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Description

> Selection - Electrons are first selected based on Eta to
determine which section of the calorimeter it is in (Barrel or
Endcap).
Then selects FSR photon with smallest delta R (w.r.t. both
leading and subleading electrons) - determines the FSR
photon pT and the dR Ring which electrons are sorted into.



Invariant Mass - Barrel-Barrel - Ring 1 (0.0 - 0.025)

Mass Distributions in Inner dR Ring (0.0 - 0.025)

PT=00-2500, Mean = 90.533,

RMS = 3,395, Integral = 119736032

0.14 pT=25DD—5000?Mean=90457.
RMS = 3,381, Integral = 7674641
PT =500.0 - 1000.0, Mean = 90.412|

012 RMS = 3,411, Integral = 7318099

- PT = 10000 - 2000.0, Mean = 90.363,

RMS = 3.438, Integral = 7172296
PT = 2000.0 - i, Mean = 90.325,
RMS = 3505, Integral = 21075514
PT = 0.0 - inf, Mean = 90.489,

| RMS = 3,412, Integral = 162976581}
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Invariant Mass - Barrel-Barrel - All Rings

Invariant Mass Distributions in All Rings

- Ring = 0.0 - 0.025, Mean = 90.489,
0.14— RMS =3.412, Integral = 162976581

C Ring = 0.025 - 0.1, Mean = 90.395,
0.12H— 32 Ring =0.1-0.3, Mean = 90.183,

o RMS = 3569, Integral = 10773330

r i Ring = 0.3 - inf, Mean = 90.266,

01 RMS = 3,534, Integral = 18716187
T+ Ring = 0.0 - inf, Mean = 90.446,

C :¢: RMS = 3.434, Integral = 208284579)
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Invariant Mass - Barrel-Endcap - Ring 1 (0.0 - 0.025)

Mass Distributions in Inner dR Ring (0.0 - 0.025)

T =00-250,0, Mean = 50,303,
= RMS = 3.552, Inegral = 93038083
r PT = 250.0 - 500.0, Mean = 90.348,
0.12— =41 T T RMS=3.507, Integral = 5595225
- i PT =500.0 - 1000.0, Mean = 90.267)
o RMS = 3,549, Integral = 5613995
- PT = 1000.0 - 2000.0, Mean = 89.979,
0.1— RMS = 3,679, Integral = 5325095
r -1 _ PT=2000.0-inf, Mean = 90.157,
- ! RMS = 3.642, Integral = 15133027
- T PT = 0.0 - inf, Mean = 90.339,
0.08— RMS = 3,573, Inegral = 124705425
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Invariant Mass - Barrel-Endcap - All Rings

Invariant Mass Distributions in All Rings

=+

Ring = 0.0 - 0,025, Mean = 90.339,
RMS = 3.573, Integral = 124705425
Ring = 0.025 - 0.1, Mean = 90.324,

0.12-— #: T RMS = 3539, Integral = 12562776

: f+ Ring =0.1-0.3, Mean = 90.1,

- RMS = 3.701, Integral = 8647030
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[ ;‘; + Ring = 0.0 - inf, Mean = 90.311,
0.08 '_ RMS = 3.592, Integral = 161272220}
0.06F-
0.04F =

C ==

= —+
002 | ==& ==

= ==

ol b b b b b b b e by
1 —
e T ==
1. | - = +ﬁi—"—
0 1 —+— LT ! | ==
8 R R BN BRI SN PR BT I R x10°
: 82 84 86 88 90 92 94 96 98 100




Invariant Mass - Endcap-Endcap - Ring 1 (0.0 - 0.025)

Mass Distributions in Inner dR Ring (0.0 - 0.025)

C PT=00-2500 Mean =501,
r —_ T RMS =3517, Integral = 37756664
0.14 PT = 250.0 - 500.0, Mean = 89.92,
- -1 RMS = 3.498, Integral = 2463037
- pT =500.0 - 1000.0, Mean = 89.938)
012 — RMS = 3,689, Inegral = 2424946
° - pT =1000.0 - 2000.0, Mean = 89.797,
- ! == RMS = 3.554, Integral = 2111447
o 1 _ pT=20000-inf, Mean = 89.851,
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Invariant Mass - Endcap-Endcap - All Rings

Invariant Mass Distributions in All Rings
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Ring = 0.0 - 0.025, Mean = 90.047,

RMS = 3.55, Integral = 51219125
Ring = 0.025 - 0.1, Mean = 90.031,
RMS = 3,561, Integral = 494696
Ring =0.1- 0.3, Mean = 89.811
RMS = 3.669, Integral = 3543707
Ring = 0.3 - inf, Mean = 89.901,
RMS = 3.659, Integral = 5704406
Ring = 0.0 - inf, Mean = 90.019,
RMS = 3.568, Integral = 65414108
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Layer 1 / Layer 2 - Barrel-Barrel - Ring 1 (0.0 - 0.025)

Layer 1/ Layer 2 Energy Distributions in Inner dR Ring (0.0 - 0.025)

T PT=00-2500, Mean = 0.458,

=t RMS = 0,183, Integ
$ pT = 250.0 - 500.0, 0.459,
RMS = 0,181, Integral = 8418442

1 PT=500.0 - 1000.0, Mean = 0.465,
RMS = 0,183, Integral = 8045664
—+ PT =1000.0 - 2000.0, Mean = 0.472]

RMS = 0.184, Integral = 7897864

% _ PT=2000.0-inf, Mean =0.484,
RMS = 0,185, Integral = 23281250
PT=0.0- nf, Mean = 0.462

EE RMS =0.184, Integral = 179459742
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Layer 1 / Layer 2 - Barrel-Barrel - All Rings

Layer 1/ Layer 2 Energy Distributions in All Rings

0.24F Ring = 0.0 - 0,025, Mean = 0.462,

E ;’; RMS =0.184, Integral = 179459742
0.22— $ Ring = 0.025 - 0.1, Mean = 0.458,

E RMS = 0,181, Integral = 17381138

0.2 Ring = 0.1 - 0.3, Mean = 0.467,

E RMS = 0,186, Integral = 12033360
0.18 Ring = 0.3 - inf, Mean = 0.462,
0.16 Ring = 0.0 - inf, Mean = 0.462,

E RMS = 0.184, Inegral = 220925811
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Layer 1 / Layer 2 - Barrel-Endcap - Ring 1 (0.0 - 0.025)

Layer 1/ Layer 2 Energy Distributions in Inner dR Ring (0.0 - 0.025)

T =00-2500, Mean =049,
== RMS = 0.21, Inegral = 101702652
== pT =250.0 - 500.0, Mean = 0.492,
= T RMS = 0.21, Integral = 6076600
1 PT =500.0 - 1000.0, Mean = 0507,

0.18 RMS = 0.213, Integral = 6102915
E $ PT =1000.0 - 2000.0, Mean = 0.505
0.16 i RMS =0.212, Integral = 5821526
R = PT =2000.0 - inf, Mean = 0518,
F RMS = 0.216, Integral = 16646762
0.14F BT = 0.0- inf, Mean = 0.495,
e RMS = 0211, Integral = 136350484|
0.12— i 4
0.1—

-+
fH

=
o= b by b b T e e L

Wf*;f;;ﬁj\:if:,%o;gf 4

0 0.2 0.4 0.6 0.8 1 1.2 1.4 16 18 2

[




Layer 1 / Layer 2 - Barrel-Endcap - All Rings

Layer 1/ Layer 2 Energy Distributions in All Rings

Ring = 0.0 -0.025, Mean = 0.495,
$ RMS = 0.211, Integral = 136350484|
. Ring = 0.025 - 0.1, Mean = 0.495,
0.2 0,025-0, 0.4
RMS = 0.211, Integral = 13680951
0.18 Ring = 0.1 0.3, Mean = 0,491,
RMS = 0.21, Integral = 9523965
0.16 Ring = 0.3 - inf, Mean = 0.49,
RMS = 0.211, Integral = 17061871
0.14 Ring = 0.0 - inf, Mean = 0.494,
. RMS = 0.211, Itegral = 176617271
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Layer 1 / Layer 2 - Endcap-Endcap - Ring 1 (0.0 - 0.025)

Layer 1/ Layer 2 Energy Distributions in Inner dR Ring (0.0 - 0.025)

= BT = 002500, Mean = 0461,
= RMS = 0.217, Integral = 41657004
0.22F BT = 2500 - 500.0, Mean = 0.461,
E T RMS = 0.217, Integral = 2687172
0.2 PT =500.0 - 10000, Mean = 0.463,
F 1 RMS = 0.208, Integral = 2649503
0.18F ____ pT=1000.0- 20000, Mean = 0.48,
= RMS = 0.217, Integral = 2344177
E PT =2000.0 - inf, Mean = 0.487.
0.16— RMS = 0.223, Integral = 7223336
E - - BT = 0.0~ inf, Mean = 0.465,
0.14F | zF RMS = 0218, Integral = 56561192
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Layer 1 / Layer 2 - Endcap-Endcap - All Rings

Layer 1/ Layer 2 Energy Distributions in All Rings
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Layer O - Barrel-Barrel - Ring 1 (0.0 - 0.025)

Layer 0 Energy Distributions in Inner dR Ring (0.0 - 0.025)
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Layer O - Barrel-Barrel - All Rings
Layer 0 Energy Distributions in All Rings
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Layer O - Barrel-Endcap - Ring 1 (0.0 - 0.025)

Layer 0 Energy Distributions in Inner dR Ring (0.0 - 0.025)
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Layer O - Barrel-Endcap - All Rings

Layer O Energy Distributions in All Rings

0.045F Ring = 0.0 - 0.025, Mean = 2156.367
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Layer O - Endcap-Endcap - Ring 1 (0.0 - 0.025)

Layer 0 Energy Distributions in Inner dR Ring (0.0 - 0.025)
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Layer O - Endcap-Endcap - All Rings

Layer O Energy Distributions in All Rings

Ring = 0.0 - 0,025, Mean = 2239.894
0.08 RMS = 1692.918, Integral = 394584
Ring = 0,025 - 0.1, Mean = 2369.92:
0.07 RMS = 1693.676, Integral = 376192
i Ring = 0.1 - 0.3, Mean = 2322.806,
RMS = 1728.999, Inegral = 253197
0.06 Ring = 0.3 - inf, Mean = 2332.708,
RMS = 1763.952, Integral = 459002
Ring = 0.0 - nf, Mean = 2262.243,
0.05 RMS = 1701.957, Integral = 503423}
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